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Report of Quiz 10 
11/7/2016 

1. Summary 
 

 Number of Students 

Total 160 

Attended 134 

Missed 26 

Makeup 0 

 

 

 

18

48

23 21

13 11

0

20

40

60

80

100

0-5 6 7 8 9 10

Quiz 10

Average = 6.6
Stdev = 1.6



2 
 

 

 

 

 

6.6

7.3

5.5

6.5

7.9

6.6

9.0

7.0

1.6
1.9

2.3
1.9 2.1 1.9

1.4
1.8

0.0

1.0

2.0

3.0

4.0

5.0

6.0

7.0

8.0

9.0

10.0

2016 2015 2014 2013 2012 2010 2009 2008

Quiz 10 comparison with previous years

Average

Stdev

6.8

8.2

7.4

9.0

7.9

8.9 8.6 8.5
8.2

6.6

2.0
1.5 1.6

1.0
1.5

1.1 1.3 1.1 1.2
1.6

0.0

1.0

2.0

3.0

4.0

5.0

6.0

7.0

8.0

9.0

10.0

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

Comparison of Quizzies 2016

Average

Stdev



3 
 

 

2. Common Mistakes 

• Did not show how du/dx = 0 (i.e. did not use the continuity equation) 
• Not proving why different terms go to zero in the x-momentum equation 
• Using the wrong formula for shear stress 
• Evaluating the shear stress at incorrect location 
• Incorrect units for shear stress 
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